BREEZEILARKIKTEEEABI42]

1101 [FERE [aR [ FAEZ | 2010 [AreEsmmiaz] 1955
KiR (3 EAT) TEE SHEAHEEA KX NRE VEfTEE | 50a
O2EZREEE ORBZLEEFREZEGhaAIER) OXREFIE(OhaLlE) WZOM(REZLEST/NRERKE. £
BNERE D¥ﬁ£ﬂ? EELNL BERELNL
XOELZRERETHEEEZRETTLVMES . BEX. BE. ERELEADOEAFHETLA . EARE X TOMICHEL TS,
*FHEhH
BRFE: 1 AN ERFEH 0 A ERFBEHEERE) 0 A
A5 57 B RS (10adp7=Y)
B 18 2H 3H 4H 5H 64 7H 8H 9H 108 118 128 &t
{Iﬁg% E[R[F|E[R[ | E[R][F|E[PR[T|[E[R][F|E[R][F|E[P[F|E[BR][F|E[R[F|E][R[F|E[R[F|E[R[T]| ="
FiE-BE 20 04| 10]10] 10 54
e Bt 10 1.0
RLyMERK 70 7.0
Ko 10 1.0
A Z 40 4.0
fRE 1010 2.0
BRR 08 08
KEH 40 [ 40 40] 40] 40] 40 24.0
SR 02 24 24 24 74
InfE 10 1.0
H T R 2 04 0.4
0.0
0.0
‘S{ §‘|' 0.0ﬂ 00)00)o0o|00f00|00O| 20| 06| 20|120]|100| 40| 64| 50| 74| 00|(00|08|00|24[00|00|00|00f14]00]|00|00|00f00)]00]00]|00]|O00 54.0
XEMERE L, AR EFOHTEA,
L 2 N
rSO5—(ER) . BAEFSR. Lvs—
S AR R ORI EE
A I [ I [ I [ I [ [ 108 | 11H [ 12R8 =
) LIEPI'FILIEPI'FILIEF'I'FILIEPI'FILIEF'I'FILIEPI'FILIIIF'I'FILIEPI'FILIIIF'I'FILIEPI'FILIEPI'FILIEPI'Foﬂi
A
O:EHE
EfHAR o © [ ] WURFE
U= (kg/10a) 420 420
H{f(F/kg) 450 450
£%8(M/10a) 0 0 0 0 0 0 0 0 189,000 0 0 0] 189,000
2 ZE¥(M /104 0 0
s -| 189,000
SEHE0aH-Y) S EEH0aBHY)
% BE ] ERER 8 e i BE 28
I 40,143
At 0 |t 40,143
SEHE0adHT=Y)
4 EAEGke BE i3 HRmE EX O XILWFHH(10adt=Y)
% FEHE HR5eRE E3 ]
=Xl 0
SELEYEE(10adh1=Y)
23 Ef] = 25
At 643
KEBE={EAE x B
QT DA E(10adh 1Y)
e fEi H il = FIEEZT E3:
&it 1,429
S ZTDMDER
| 8
Tk B - KFIE 45,714
At 9,714 TR H 31,357
KEF=—BEHxBE-FREXK | 77,071
SEEE10adpI=Y)
e fikd i EE Bhe EE: ] OIE#%%%EE(waW:t )
[ 3
[ 0
&t 0 EHE 643
ZDEEM 9,714
QAR EKEadHT=Y) EEE 0
TS fiti ] BE FERER E ] (B AREBKE 26,714
Bfa 40,143
RLNERH 5
FEYEE 1,429
ZOMDER 77,071
&t 155,714
5T 26,714 KEEBRBEIEHEOHTHA




